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1 100kN/mM%#B 2.5 - -~ - -|3mEBZD -~ - -| 100kN/ %82 % - ~ -|3mEEZS ~ -
zh st 1.00| 000 ~ 4162 57.57 | Fhst | 000 ~ 462| 1.87 9.45 Zzh s 1.00)| 500 ~ 5.00 57.57 | Fhst | 500 ~ 500\ 1.87 9.45
2 100kN/mM%#B 2.5 ~ -|3mEBZD ~ -| 100kN/ %82 % ~ -|3mEEZS ~
znst 1.00 1000 ~ 6.38 80.28 | #nst | 000 ~ 000\ 1.76 892 st 1.00 | 5.00 ~ 750 80.28 | =ns | 500 ~ 750 1.76 892
3 100kN/mM%#B 2.5 -~ - -|3mEBZD ~ -| 100kN/ %82 % ~ -|3mEEZS ~
znst 1.00 1000 ~ 716 91.02 | =hdst | 000 ~ 000|172 867 st 1.00 | 5.00 ~ 910 91.02 | =hst | 500 ~ 910 1.72 867
4 100kN/mM%#B 2.5 -~ - -|3mEBZD ~ -| 100kN/mM%#B 2% ~ -|3mEEZS ~
znst 1.00 1 000 ~ 548 6833 | ThS | 000 ~ 000 1.76 8.89 st 1.00 | 5.00 ~ 6.00 68.33 | TS | 500 ~ 600 1.76 8.89
5 100kN/mM%#B 2.5 -~ - -|3mEBZD ~ -| 100kN/mM%#B 2% ~ -|3mEEZS ~
znst 1.00 |1 000 ~ 6.90 87.40 | #hdst | 000 ~ 000| 1.75 8.86 ZFh st 1.00 | 5.00 ~ 850 87.40 | =ns | 500 ~ 850 1.75 8.86
g 100kN/mM%#B 2.5 -~ - -|3mEBZD ~ -| 100kN/ %82 % ~ -|3mEEZS ~
znLst 1.00 | 0.00 ~ 541 67.55 | TS | 000 ~ 541 1.89 9.55 st 1.00 | 5.00 ~ 620 67.556 | Tnhs | 500 ~ 620 1.89 9.65
7 100kN/mM#E#EZ % -~ - -[3mEEBZD ~ -| 100kN/mi%#8 2% ~ -|3mEBZS ~
Zzh st 100|000 ~ 658 83.03 | #FnL | 000 ~ 658 1.79 9.04 Zh Lt 1.00)| 500 ~ 790 83.03 | #hst | 500 ~ 790\ 1.79 9.04
s 100kN/mMZ#B % % -~ - -|3mEHEZ S ~ -| 100kN/mMZ# %% ~ -|3mEBZS ~
Zzh st 100|000 ~ 586 73.34 | FnLAS | 000 ~ 586 1.96 9.93 Zh Lt 1.00)| 500 ~ 730 73.34 | TS | 500 ~ 730 | 1.96 9.93
9 100kN/MZ#B % % -~ - -|3mEHEZ S ~ -| 100kN/mMZ# %% ~ -|3mEBZS ~
Zzhn st 100|000 ~ 711 90.26 | #FnLUst | 0.00 ~ 0.00)| 1.71 8.63 Zh Lt 1.00)| 500 ~ 9.00 90.26 | Ehst | 500 ~ 9.00| 1.71 8.63
10 100kN/MZ#B % % -~ - -|3mEHEZ S ~ -| 100kN/mMZ# %% ~ -|3mEBZS ~
Zzh st 100000 ~ 713 90.57 | #FnLst | 000 ~ 0.00]| 1.69 8.56 Zh Lt 1.00)| 500 ~ 910 90.57 | Ehst | 500 ~ 910 1.69 8.66
17 100kN/MZ#B % % ~ -|3mEHEZ S ~ -| 100kN/mMZ# %3 ~ -|3mEBZS ~
Zzh st 100000 ~ 329 41.94 | Fhst | 000 ~ 329|238 12.05 zh s 100|500 ~ 600 41.94 | Fhlst | 500 ~ 6.00| 2.38 12.05
12 100kN/mMZ#B % % -~ - -|3mEHEZ S ~ -| 100kN/mMZ# %% ~ -|3mEBZS ~
Zzhst 1.00) 000 ~ 634 79.76 | #FnLst | 000 ~ 634 192 9.68 zhLsn 1.00)| 500 ~ 790 79.76 | EhLs | 500 ~ 790 | 1.92 9.68
13 100kN/mZ#BZ2% | 1.00 | 000 ~ 183 12814 |3mEiBZ5 ~ -| 100kN/MZ#BZ5 | 100 | 10.73 ~ 1819 12814 |3mEiBZ 5 ~
ThLlst 100183 ~ 961 100.00 | =ns | 000 ~ 961|227 11.50 ZFh Lt 100 5.00 ~ 1073 100.00 | TnLS | 500 ~ 1819 2.27 11.50
14 100kN/m#Z#BZ5 | 1.00 | 000 ~ 113| 11702 |3m&EHB23 ~ -| 100kN/MZ#BZ5 | 1.00 | 1058 ~ 1402 11702 |3mE#BZ5 ~
zh Lot 100113 ~ 891 100.00 | =ns | 000 ~ 891|224 11.31 ZFh Lt 100 5.00 ~ 1058 100.00| NS | 5,00 ~ 1402 | 2.24 11.31
100kN/MZ#B % % ~ ImEHEAD ~ 100kN/m#Z#z % ~ ImEBZ D ~
Zhils ~ Fhils ~ zh s ~ zh st ~
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